@ Byanchoe indinie - %,,mi_:i prcebolig de diccchion 4=o

NETSCHOOL1

AAAAAAA

*6'.1_i9(“]=m I{'L {El:q p\et;

w—= oo M— D n

owee (o € [AY) 7\1_, F :LT 23— 2dn
U—s 40 U—&T =0

-—-P-TIT L ?(ﬂ]-auz oo | .
.er. Cue; :-Avue:\' VS chu\c:‘a; YAfaLaQ.C:]ve_, - &—-;076(?)- %_;)

<=]¢ cliucjn'm L cl«a&l-e_ cl‘ijwa'\ﬁ‘m %:Ont_ \ = |.

EKLM"‘(_«.S'. *60‘,' #(v\, = 3% — .2\[1 '“ﬁ T it_]' = 3% — 92\/_51.,

. “«— 4w n
Ae.l'umlnu j; —,'7[3; <:L¢. LVq“(R_ m‘{l;“;g_ ] Q a i
7NN \fsw‘Sif\n(SL =L_ ~+ 9 - ‘ u— + o Vo

=




OOOOOOOOOO

) F6) _ [L

. ‘]E(J 3 = _‘_M%—zﬁ _%e {J&;auu)Jr-o

L 3egx-[F
— o |. (CAVQSMcL—SSJ da A)
—AﬂAS C(’ °u==|wz(' VA L«mc:a. amf-x\oa-e\jw_.

A J«r_c..l“t j;\ AVS\L AL? 'Lm'E i ?( w)= =0

l

w) _
*4 irum nev L "TP J ; “‘._,.1._:, (“] "& %i 1.

lﬂ—i-+.n

] g A=
Jz:\' .,,_,+.a‘jp()-m »onc,tc-TJ. T (WQ%Q_MJ“ ==Lb)




